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Instructions for the Candidates

1. Write your roll number in the space provided on the top of
this page.

2. This paper consists of fifty multiple-choice type of questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are
requested to open the booklet and compulsorily examine it
as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not accept
an open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra time
will be given.

(iii) After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the
OMR Sheet Number should be entered on this Test
Booklet.

4. Each item has four alternative responses marked (A), (B),

(©) and (D). You have to darken the oval as indicated

below on the correct response against each item.

Bxample : (7D ® ©

where (C) is the correct response.

5. Your responses to the items are to be indicated in the Answer
Sheet given inside this Booklet, which is common for
Paper I and Paper I1. If you mark at any place other than
in the ovals in the Answer Sheet, it will not be evaluated.

6. Read instructions given inside carefully.

7. Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render
yourself liable to disqualification.

9. You have to return the test question booklet and OMR
Answer Sheet to the invigilators at the end of the
examination compulsorily and must not carry it with you
outside the Examination Hall.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There is NO negative marking.
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PAPER -1
oA —1

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

9 U9 T U= (50) 95-Toehed T U9 § | U U R g (2) 37k © | Wl Ul % W
e |

1. Good evaluation of written material should not be based on :
(A) Linguistic expression
B) Logical presentation

Ability to reproduce whatever is read

Comprehension of subject

2. Why do teachers use teaching aid ?

(A) To make teaching fun-filled
B) To teach within understanding level of students
For students” attention

To make students attentive

1. foafed amft & 9@ qeaied i # & fra W enenfia =721 2 =nfew ?
(A) wET Attt
(B) feheh TEfa
(C) ST 9T T ¥ S YH: UK HIA h! &IHAT
(D) fawa =1 wfEm

2. Torersh, fereror wmmft o6 SUHRT = H E ?
(A) Toeror sl TSR S
(B) fo=nfi=i =n1 @t o6t €twn § wgT
(C) forenfefai o eammEeRy o fag
(D) faenfoi=i =1 waeh & & fag
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3. Attitudes, concepts, skills and knowledge are products of :
(A) Learning (B) Research
(C) Heredity (D) Explanation

4.  Which among the following gives more freedom to the learner to interact ?

(A) Use of film

(B) Small group discussion
(C) Lectures by experts
(D) Viewing country-wide classroom programme on TV

5.  Which of the following is not a product of learning ?
(A) Attitudes (B) Concepts
(C) Knowledge (D) Maturation

6. How can the objectivity of the research be enhanced ?
(A) Through its impartiality (B) Through its reliability
(C) Through its validity (D) All of these

7. Action-research is :

(A) An applied research

(B) A research carried out to solve immediate problems
(C) A longitudinal research
(D) All the above

8.  The basis on which assumptions are formulated :

(A) Cultural background of the country

(B)  Universities
(C) Specific characteristics of the castes
(D) All of these

9.  Which of the following is classified in the category of the developmental research ?

(A) Philosophical research (B) Action research
(C) Descriptive research (D) All the above
WXYZ—-00 4

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




3.  Ifgfd, THehoud, Sivre 99 9 SUS ®
(A) Hre &t gfshan (B) WY I
(C)  SeITgTaar 1 (D) e &

4. Trefafes # @ o0 9@ fafy den o St s=afma § sifus wasa < €2
(A) Tred &1 3T

(B) B U H ==

(C) o=l g1 =

(D) 3.3 W < AT HA-hRHH h1 ST

)
)

5. fr=ifera ® @ i 9ien i ufshan 1 gikomy 787 ?
(A) sfafa (B) HheT
(C) I (D) URgeRr

6. I I fawafrsar &1 fovd YR agrn ST gk € ?
(A) 3HH! frouerar o SR (B) k! forveradl & SIRA
(C) 39t dgdl & IR (D) Sude |t

7. IRIRG MY T

(A) STIIH W
(B) dIehTicteh FHESA! < THIUM =g foha o oy
(C) U= Sy
(D) SwdF @i

8.  HMHaG fAfHA ST 1 SMUR 8 ?

9. frmifRa H | fFQ faenraeass iy & ovf o aniiepa foham T © 2

|
(A) Twif® (drfaes) Y (B) TrareHe Wy
(C) foaaomeHss MY (D) SwiE @it
WXYZ —00 5 P.T.O.

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



10. We use Factorial Analysis :

(A) To know the relationship between two variables
B) To test the Hypothesis
To know the difference between two variables

To know the difference among the many variables

Read the following passage and answer the questions 11 to 15 :

While the British rule in India was detrimental to the economic development of
the country, it did help in starting of the process of modernizing Indian society and
formed several progressive institutions during that process. One of the most beneficial
institutions, which were initiated by the British, was democracy. Nobody can dispute
that despite its many shortcomings, democracy was and is far better alternative to the
arbitrary rule of the rajas and nawabs, which prevailed in India in the pre-British
days.

However, one of the harmful traditions of British democracy inherited by India
was that of conflict instead of cooperation between elected members. This was its
essential feature. The party, which got the support of the majority of elected members,
formed the Government while the others constituted a standing opposition. The existence
of the opposition to those in power was and is regarded as a hallmark of democracy.

In principle, democracy consists of rule by the people; but where direct rule is not
possible, it's rule by persons elected by the people. It is natural that there would be
some differences of opinion among the elected members as in the rest of the society.

Normally, members of any organizations have differences of opinion between
themselves on different issues but they manage to work on the basis of a consensus and
they do not normally form a division between some who are in majority and are placed
in power, while treating the others as in opposition.

The members of an organization usually work on consensus. Consensus simply
means that after an adequate discussion, members agree that the majority opinion may
prevail for the time being. Thus persons who form a majority on one issue and whose
opinion is allowed to prevail may not be on the same side if there is a difference on
some other issue.

It was largely by accident that instead of this normal procedure, a two party
system came to prevail in Britain and that is now being generally taken as the best
method of democratic rule.

Many democratically inclined persons in India regret that such a two party system
was not brought about in the country. It appears that to have two parties in India - of
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10.

T N TITCTI 1 STAN I © :
A) =R & o= Y F1d H & g
B) TeRheyHl Shl TRI&0N A ok oI
C) <= & 9 IR S o o

(
(
(
(D) ¥gd ¥ =R % " F<R W & fau

EAfcTfae STaavur @i Ufeq a9ar 11 @ 15 de @& 91 & Iav gy :

o fofew e 3w % onfeds fawma = afd v aren & T o1 99 of ST 9IRS
HHS o ST i Ufsha Y& HLA a4 9 Tfshan A =gd o Jafaefiar deensdi =l s
T H Hg i | IUS gRI YT ki T8 fedehilt Weemati § § Teh o YT | 39 &I1d <l hlg folY
T2 L Tehall foh =rgd ©ff bl o srers[g wlichas wRd # fordher smed | gdl yaferd Tstedi qen
Faral o TR IMEA h1 3T AR S faeheq o |

90, qd 3 fafee st 1 S e e e T ST0E 9% off ST faifaa el o
TR ot TN foRier 1 91 | g SHHT A AL o | I Ui, foent faifaa ge=i #
TG TH BIT o, I8 TR ST oft Safeh 311 Tewe fauet § 2 9| faver 1 sifeqe & o
T S AN o foTT YT 1 SierdTeh |1 T |

Yartaer gfte 9, Yot <l §R1 I €, Toheg STl Weored e T =16 &, 9l ol g
Traifea Tl =1 Ime= a1 § 1| 9% Tnifas © foh 99 & o1 <l ot @i © fatfaa e
% fouri # ff 8 7auc 7|

grrra: ferdlt off Hed & Hew | fafis qef W 4a9e 8 § W 9 Fagmfd & STER
R T A E T S W ST iR ogHd § § qen o1 S faust § ¥ 3 9 e R |

G % TS U Hagwfa ¥ wrd d € | Gt 1 SR €9 9 31 €, g ==t
% e, SgHd W TG T&de T bl 39 THY TR BT €1 37d: Tee, S fendlt 4R W sghd
H B ¥ o FSTeRt wEe Wiighd B €, I8 STavas el o 3 TRt o= g W Hawe =t feufa
o ThHd € |

=9eh ®9 9, I8 T & o1 o6 30 I gishan o1 1ven foaea o < midal i sqaen
STl g8, TS9 TSItk 36 ol T8 Iq9 UEid & §9 H 376 FHEFE: @R HL for
TR

ARd | Y1 H Y9 dgd 9 N QI Sl shl ekl hl Q¥ H o] i § T sqwa
FA T | UET T, AR H ST SRS ISR o <1 Sl ol o1 — a&qd: STOEeT §1 S el
] HIEAT & ST9TE o 9fd S F@=idl Yone Fd € SRl 3796 vl W fa=m s =nfen |
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more or less equal strength - is a virtual impossibility. Those who regret the absence of
a two-party system should take the reasons into consideration.

When the two party system got established in Britain, there were two groups
among the rules (consisting of a limited electorate) who had the same economic interests
among themselves and who therefore formed two groups within the selected members
of Parliament.

There were members of the British aristocracy (which landed interests and
consisting of lord, barons etc) and members of the new commercial class consisting of
merchants and artisans. These groups were more or less of equal strength and they
were able to establish their separate rule at different times.

Answer the following questions :

11. In pre-British period, when India was ruled by the independent rulers :
(A) Peace and prosperity prevailed in the society
(B) People were isolated from political affairs
(C) Public opinion was inevitable for policy making
(D) Law was equal for one and all
12.  What is the distinguishing feature of the democracy practiced in Britain ?
(A) End to the rule of might is right.
(B) Rule of the people, by the people and for the people.
(C) It has stood the test of time.
(D) Cooperation between elected members.
13. Democracy is practiced where :
(A) Elected members form a uniform opinion regarding policy matter.
(B) Opposition is more powerful than the ruling combine.
(C) Representatives of masses.
(D) None of these.
14. Which of the following is true about the British rule in India ?
(A) It was behind the modernization of the Indian society.
(B) India gained economically during that period.
(C) Various establishments were formed for the purpose of progress.
(D) None of these.
15. Who became the members of the new commercial class during that time ?
(A) British Aristocrats (B) Lord and barons
(C) Political Persons (D) Merchants and artisans
WXYZ—-00 8
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e § Sa 1 < el Heeen wfyd & M a1 wed 9 S e 9 (e et
Hifia &) f5es sfdfer fed ¥HM &1 31q: 39 ¥eA o MHaifad 9ewl o < e &1 T |

fafee g # 3 9 T8 9 (St dre, Tame am=il seeen o7 ¥ &4 of) qa
U a9 % eE § an SR et e 91 37 SRl 6 o ST SHE o a9
forfvrst <hreti | 9 3T9AT Yoreh SEH Tfud e o A 9 |

11. fofew-vd o1 § vRA S1d Tdo Weehi gR1 e o, 1@ ¢
(A) b ¥ wifa den wgfg afem o

(B) TSHifaeh AHE 9 ST STHYeR off

(C) ifa fruior § S9q sTrereek o

( A Herch foT §8 M o

)
)

)

12. foea ¥ yafaa yeias & fafore oemor = &2
A) gt @t Sust 99 & WA w5 e
B)  SIdl S ST o TelT SHa1 g1 oA
C) IE 99T ! HA T G A

) fraifead aeei o ureafies wedm

~—

(
(
(
(

)

13. USTGASTH § R E?
(A) Traifead we=di @1 fifa e % g8 ® whad 8
(B) Tl &t ht 31U foqer 1 i wifsremedt 2
(C) oTsH & gfaffy
(D) T 9 HFE T8
14. R4 H fafew yeq & a1 § f=fafed § § -9 @81 ?
(A) I IRATT HHS o YRR die o |
(B) 39 3afY H WRA I 3Mffeh oy gatm |
(C) I o Ieva § fafir Heensti ot T g3 |
(D) STH 9 IS &I

15. 39 rafy ¥ U Aa@iaes o & 95 i gy ?

(A) fofew - efysrea = (B) TS el A4
(C) TSI (D) AR qe fered
WXYZ —00 9 P.T.O.
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16. Which one of the following Telephonic Conferencing with a radio link is very popular
throughout the world ?
(A) TPS (B) Telepresence
(C) Video conference (D) Video teletext
17. Which is not 24 hours news channel ?
(A) NDTV 24x7 (B) ZEE News
(C) Aajtak (D) Lok Sabha channel
18. The main objective of F.M. station in radio is :
(A) Information, Entertainment and Tourism
(B) Entertainment, Information and Interaction
(C) Tourism, Interaction and Entertainment
(D) Entertainment only
19. In communication chatting in internet is :
(A) Verbal communication (B) Non verbal communication
(C) Parallel communication (D) Grapevine communication
20. Match List-I with List-II and select the correct answer using the codes given below :
List-1 List-11
(Artists) (Art)
(a) Pandit Jasraj (i) Hindustani vocalist
(b) Kishan Maharaj (i) Sitar
() Ravi Shankar (iii) Tabla
(d) Udai Shankar (iv) Dance
Codes
(@ B () (@
(A) @) (@) @) ()
B) @) (@) (@v) (i)
© @ (@) 3G (@)
(D) @) @) @ (@)
21. Insert the missing number in the following :
3,8,18,23, 33,7 48
(A) 37 (B) 40 (©) 38 (D) 45
22. In a certain code, CLOCK is written as KCOLC. How would STEPS be written in that
code ?
(A) SPEST (B) SPSET (C) SPETS (D) SEPTS
WXYZ—-00 10
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16. Trafafeaa § & o e faew & a1y R amter fova # sga i 82
(A) TPS (B) <elwHA
(C) fafea s (D) fafedl eefiese
17. <hIAEI 24 S GHER 999 T@ S ?
(A) TAELAEL 24x7 (NDTV 24x7)  (B) St =I5 (ZEE News)
(C) SASIaH (Aajtak) (D) ThEH =Fd (Lok Sabha channel)
18. Yfedi § TH.UH. WY I A Se¥I ¥ ¢
(A) AT, TARSH a1 e (B) HARSH, =1 A ATHAR
(C) T, TAHaR, T HARSH (D) had FARSH
19. 3= R GUR 94 ¢
(A) TifEgs G9R (B) R Hifgs =R
(C) HHMRR H9R (D) UYaEA HER
20. FE-1 % GE-11 § HAR U HIS 1 TAN Hih Tl SW ST
ger-1 ger-11
( FHATHT) (&)
(a) dfed S () fegwr denfae
(b) T RS (i) fHar
(c) e g (iii)  defell
(d) 3T T (iv) =™
HIg:
(@ B () @
(A) @) @) @) (iv)
®) @ (@) (v) (i)
© @ (@) @G (@)
(D) @) @) @ (@)
21. Tr=ifeRa o o Hen fafan
3, 8,18, 23, 33, 2, 48
(A) 37 (B) 40 (C) 38 (D) 45
22, &t @€ ¥, CLOCK &1 KCOLC %t TE ¥ foran T 1 STEPS &l 36 &I § fhg 7&K
Teren sam ?
(A) SPEST (B) SPSET (C) SPETS (D) SEPTS
WXYZ —00 11 P.T.O.
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23. The letters in the first set have a certain relationship. On the basis of this relationship
mark the right choice for the second set :
BDFH : OMKI : : GHIK : ?
(A) FHJL (B) RPNL (C) LNPR (D) LJHF
24. What was the day of the week on 1st January 2001 ?
(A) Friday (B) Tuesday
(C) Sunday (D) Wednesday
25. Find out the wrong number in the sequence.
52, 51, 48, 43, 34, 27, 16
(A) 27 (B) 34 (©) 43 (D) 48
26. In a deductive argument conclusion is :
(A) Summing up of the premises
(B) Not necessarily based on premises
(C) Entailed by the premises
(D) Additional to the premises
27. ‘No man are mortal’ is contradictory of :
(A) Some man are mortal (B) Some man are not mortal
(C) All men are mortal (D) No mortal is man
28. A deductive argument is valid if :
(A) premises are false and conclusion true
(B) premises are false and conclusion is also false
(C) premises are true and conclusion is false
(D) premises are true and conclusion is true
29. Structure of logical argument is based on :
(A) Formal validity (B) Material truth
(C) Linguistic expression (D) Aptness of examples
30. Two ladies and two men are playing bridge and seated at North, East, South and West
of a table. No lady is facing East. Persons sitting opposite to each other are not of the
same sex. One man is facing South. Which direction are the ladies facing to ?
(A) East and West (B) North and West
(C) South and East (D) None of these
WXYZ—-00 12

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



23. TEA 9= H 1aR B $S WY ¥ 1 T WY & YR W W 9= & faw w@ fasen
ERIELUE
BDFH : OMKI : : GHIK : ?
(A) FHJL (B) RPNL (C) LNPR (D) LJHF
24, UREH SERT 2001 I K I hiTHl o o1 ?
(A) YHAX (B) HITTER (C) R (D) FHaR
25, Teifera 313sRd H o HE& 9 HifNT
52, 51, 48, 43, 34, 27, 16
(A) 27 (B) 34 (C) 43 (D) 48
26. [TEARHS Toh 1 R
(A) SR 9T o1 A |
(B) STHR TRl T Afamd: seia T8l 2rar ¢ |
(C) MYR TRl | Wferd & €1
(D) TR areRit § stfafed g €1
27. '@ AT TRORIE &l €1 ol AT
(A) T T TR € (B) F® AIH TOURMA Tl T
(C) Tt 7= TRoTeiier ¥ | (D) IS TORMS A -Tel €1
28. A Tk 9w 2 @ afe
(A) 2THR AT 76 iR fepd ¥ 21
(B) ST¥R a1 18 3R frerdl oft s1ocd 2
(C) STHR arR ¥ AR Fehd o7 71 |
(D) 2THR a1 ¥ 3R fshd o 21|
29. ek IR T THAT HT STHR T -
(A) TN e (B) dATHS HeAdl
(C) WITehIT SAfeHToRT (D) 3STEN i ST
30. < ufead 3iR < &Y foet Tat W/ § 2R A9 % I, 44, faron v ufvem @ iR A ¥ 1 g o
el Id & A el & 1 T TR &% QA SIS =Afed ek & fofm & el €1 ek g <faror faam
F qE §, afeed St fewmed & gugm €2
(A) Y& & uftem (B) I TS Ui¥=H
(C) <feorwd gd (D) STH ¥ | HE T
WXYZ —00 13 P.T.O.
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Question Nos. 31 to 35 NOT FOR VISUALLY HANDICAPPED CANDIDATES

Questions 31 and 32 are based on the following venn diagram in which there are three
intersecting circles representing Hindi knowing persons, English knowing persons and
persons who are working as teachers. Different regions so obtained in the figure are
marked as a, b,c,d, e, fand g.

Hindi knowing
persons

Persons working
as teachers

English knowing persons

31. If you want to select Hindi and English knowing teachers, which of the following is to
be selected ?
(A) 8 (B) b (©) « (D) e
32. If you want to select persons, who do not know English and are not teachers, which of
the region is to be selected ?
(A) e (B) & © b (D) a
Study the following graph carefully and answer questions 33 to 35.
Export of Engineering Goods
Quantity in lakh tonnes
géég Value in crore of rupees
50 50
oo o
Hooo|
Hooo| 35
Hooo| B
25 25 Hoool EE 25
coo| FEH rooo| HHHooo
151589 L LD Ho0o| FEHEHo0o
ununs (olefe) T 000 fHooo| Hifrooo
1 1]000 munn (efefo] To00| HrrHooo
HT11{000| HI19°9| R OO0 H111]ooo
000 000 000 000
2003 2004 2005 2006 2007
33. In which year the quantity of engineering goods” exports was maximum ?
(A) 2005 (B) 2006 (©) 2004 (D) 2007
34. In which year the value of engineering goods decreased by 50 percent compared to the
previous year ?
(A) 2004 (B) 2007 (©) 2005 (D) 2006
35. In which year the quantity of exports was 100 percent higher than the quantity of
previous year ?
(A) 2004 (B) 2005 (©) 2006 (D) 2007
WXYZ -00 14

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



Y9 WE&AT 31 W 35 deh gre-fasheny vafefa & fog =& ¥

T TE& 31 3R 32 = 53 T 9 S W eniia € foeH wem #ed gu dE 99 € S
for fe=<t ST o1t =Afer, 3T0SH STAH el <afed qen o safer s 31eamges €, <t gfafaiec i
FI O S ST IE A WE AR a, b, ¢, d, e, f, g T Sifera o T T

o<t ST @t A TATIF & &Y H
At ’bvh‘ HTH A e Al

SIS S et e

31. Afg o1 fedt &R TSl S aTel steamaeh bl 9 d frefafed o 9 forgent g ?
(A) 8 (B) b Q) « (D) e
32. afg o1 TR AfFET 1 A =R S SAUSH T S 2l 3R steages off 7 2 ot frefafea § @
fergeht T ?
(A) e (B) g © b D) a
FrAfaiEa ITh w1 STaciieR s 3T Y9 WEAT 33 ¥ 35 ST ST S |
gttt gt =1 faia
OTl & 2 §
|
50 50
25 25 25 00| FHEH 25
1505 FEH15 fH e2el Fess
2003 2004 2005 2006 2007
33. gSifTafin gt % i st waffus o fra ad § gg 82
(A) 2005 (B) 2006 (C) 2004 (D) 2007
34, TSAfFafin ammft w1 qou frser o &t go # &y oy § 50% %9 go ?
(A) 2004 (B) 2007 (C) 2005 (D) 2006
35. Taia =t oo &t foem 99 | fasa ad &t gom § 100% 96 & 2
(A) 2004 (B) 2005 (C) 2006 (D) 2007
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Read the passage and answer the question 31 to 35 :

The surge witnessed in mergers, amalgamations and take over of companies
during the past few years is indicative of the shape of things to come. While these
concepts are not new and were recognised even in the Companies Act of 1913, the
compulsions have undergone a dramatic change. In the past, mergers and acquisitions
were used largely as an instrument for revival of sick units or for obtaining tax benefits.
It was not uncommon for a business house to merge a sick company with a profit-
making one and claim tax benefits. The objective was not necessarily to achieve faster
growth. The liberalisation process witnessed during the late seventies and the eighties
and particularly the relaxation of some of the restrictive provisions of MRTP Act and
FERA, brought about a qualitative change in the mergers and amalgamations of
companies. Even so, the incentive to grow was almost non-existent and in fact some
companies preferred to “demerge” by splitting one company into two or more so as to

escape from the harsh provisions of the MRTP Act.

The fast pace of liberalisation since July 1991 and the time bound programme of
structural reforms under pressure from the IMF and the World Bank have shaken the
Indian industry from a slumber by exposing it to internal as well as international
competition. Not surprisingly, the pressure is building up on every enterprise to
modernise and expand to cut costs. Gone are the days of the licence and permit raj,
high import duties and the prosperity guaranteed by a “seller’s market”. With the
rising threat of competition and the “seller’s market” giving way to “buyer’s market”
in a large number of industries, the compulsion to look for economics of scale in

production and cutting down the selling cost is increasing.

Simultaneously, the virtual scrapping of the MRTP provisions and relaxation in
FERA have removed the disincentives to grow. Hence mergers, amalgamations and
take overs have assumed greater importance. Mergers and acquisitions have now come
to represent a short cut for companies to achieve accelerated growth. This is the trend

world over and India cannot remain an exception as it moves towards globalisation.

31. What was the motive of some companies behind resorting to demerger ?
(A) to enhance their accountability
(B) to bring about technical changes
(C) to face the competition in market
(D) to elude the harsh legal provisions
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STATUT &l Ugeh¥ 31 @ 35 Ak & WAl & I G|

fusel = o6l H hufai &l fao, T ad SITHHR o § IS & Tl HeHd Hdl
Bl 3 uRomd FolA TR €1 ¥ HU TR 1913 § off TR R ot T o | 37 eafaredanet
ekt afkerd 1 § | forrd ot § faeram qen stftmgor, shor Seheai o qAsiia qen R el
I UM S o F199 o €I H T&Ad: FAN T Sram o | forddt SR o=t o1 oy o[ arelt
HUAT ok 1Y TIETa ¥k T Tl ol A1 HLAT AT el o [l ST &1 +Tei o |
TR 39 SAMERIa: e foeh il 98 T @ A1 70 T 80 h IUS H SR i
gfshan, e fadiy &9 | T7 AR & 9 (MRTP) TR 991 T § IR T (FERA) & Gfdeercieh
JEYH | $© T HulEl o oo adn THHEA § oA qikerdd arg | TR off, foee &
I U R-ANE & 991 aaqd § $9 HUal 7 TH 3R & ff TR (MRTP Act) & R
TEEM | 99 % fau faeam &t o1ian TE 9 A 9 Sl § fave w uew |

SATE 1991 ¥ SIS St A 7Afd d21 36 TH TF (IMF) e fova o & <ae o
TS YR o 9T a1f4d SRihH o @ (TLF) T A qfaaifiar § el
freita frafa @ vrd= 3@ 1 feon foan &1 =@ v=dSHS =&, HIHdl &1 9 FH & fag
YR B a2 forR o foTT &Y ed T Sol1d IS @1 © | STIRI0H e STgAfd OISl 3o ST
T e forshal ISR’ g1 gHfvea ¥gfg & faa w1 afaifiTn =6t sedt AR qen sAen | sAra
ST fochdl TSR §RT * Shall SIS 3h1 TRAT < o W19, SeITG THM i ol i ge i
STl de fasha @I Sl H At AR 98 Wi R

Yok W19 &, TH AR & I (MRTP) YIS okl 378l 81 91 T § 3R T (FERA) H B2
J gl o R, SR % s T8 fean| ofa: foceH, SEHen qun SR e
wRqul o1 7T forera qun sAfemge, o7e Ul o ©Rek Ik Sl UTH A o fa sie T
I T BT 1 IS YA fovaeardt § qen aRa ot SHeR o1vare el & Gehdl Fifeh 9%
AYIeRTT i AR &g TET € |

31. ‘oS’ &l 98N o o 9® $© Hulai 1 1 399 o1 ?

A) Tk A T H gfg FEI

B) dehrichl QR shl Sl
) STSIR H TqrTan 1 |1 s
D) @SR HaHmeh Hfaa sl T |
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32. What is the meaning of the phrase, “sellers market” giving way to “buyers market” ?
(A) Confrontation between sellers and buyers in a market over price

(B) Market financially in favour of consumers

(C) More demand than supply in a market

(D) Demand and supply proportionate in a market

33. For which of the following was the amalgamations largely used in the past ?
(A) to achieve accelerated growth

(B) serving on taxes payable to the government

(C

(D

) overcoming the provisions of revival of sick units

) forcing the government to adopt liberalisation process

34. Which of the following is true about the government’s stand on import duties ?
(A) Import duty is now raised in order to earn revenue

B) Import duty is now lowered to encourage healthy competition

Import duty is lowered in order to encourage imports

Import duty is raised in order to discourage buying of foreign goods

35. The term “demerge” as used in the passage means :

S

) formulation of two or more companies out of an existing one

(B) re-union of companies which had split up out of one company
(C) separation of two or more companies which had merged into one
(D)

renaming a company to claim tax benefits

36. What do you need to put your web pages on the www ?
(A) a connection to internet (B) a web browser

(C) a web server (D) all of the above

37. Which was the first company to launch mobile phone services in India ?

(A) Essar (B) BPL (C) Hutchison (D) Airtel

38. Chandrayan I was launched on 22nd October, 2008 in India from :
(A) Bangalore (B) Sri Harikota (C) Chennai (D) Ahmedabad
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32, ‘‘foshar SR’ gRT*“Shal STSIR ' <1 AT ST ©, 39 e <l 91 Tctsl § ?
A) il i gfte I fashar SR Shar w1 STHAT [IEAT B |

B) fo<ita &4 9 IuHieKil o 9&l H SIS |

C) ISR H gfcf s 7o | kT 31fercha |

(
(
(
(D) TSR | |7 el gfci kT ST |

)
)

)

33. a9 § GAWEH 319 9 Hea: fhReh fae wm o amen m e ?
(A) @A foehE =1 9| wE

(B) HHR ! ST M a1l il <t STawdehcl T HEAT |

(C) R 3ehR1gdl i YASTad i o JEHMI hl TUYT R |

(D) HTHR o ISR Sl YfshaAT shl a1ead Tl |

)
)

34. 3T H W WEHR &I gie ¥ Fr=fafad § 9 - @1 @@t e ?
(A) AfYe TS HHEM & faQ 319 o1& = H gig wa|
(B) T YA okl dIgren oF o foTq ™G T <l 316 H HEAT |
(C) STATd ! agE < o ToTT ST 3 %l hH LA |
(D) faceit sgati sl BRI i BdlcHIed i & feTq ST T <l ST |

35. fauea (feusi) vree 9 stamur & 399 9 forg o1ef & vl & o o § 2
A) Tt foreram ot o6t S @/ stfues SHufTEr I

B) ol shoet & STemT ot hufat 1 g |

C) o 3HY Ak Ul foeeht Tk o faerae 21 T o1 ST 3TerT BT |
D) Y s fTq ot <l qa: Afhd |

(
(
(
(

36. www T I8 Usil bl TleM & foIT MUkl fohdant sTawaehar ¢ 2
(A) T TS Sl Frlod (B) T ol ST
(C) T e HTR (D) Wi a4t

37. 9Rd U Hiemsd i &t 9aT GUH IR < arell HEr off ?
(A) TER (B) @t ww (C) T=EA (D)

38. =AM 1,22 AR, 2008 H1 A H Hal T Biel 7 o1 2
(A) TR (B) diefERre (OEH (D)
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39. What is blog ?

(A) Online music

(B) Intranet
(C) A personal or corporate website in the form of an online journal
(D) A personal or corporate Google search
40. Which is not online Indian Matrimonial website ?
(A) www.jeevansathi.com (B) www.bharatmatrimony.com
(C©) www.shaadi.com (D) www.u.k.singlemuslim.com

41. Environmental impact assessment is an objective analysis of the probable changes in :

(A) physical characteristics of the environment

(B) biophysical characteristics of the environment
(C) socio-economic characteristics of the environment
(D) all the above

42. Bog is a wetland that receives water from :
(A) nearby water bodies (B) melting
(C) rain fall only (D) sea only

43. Which of the following region is in the very high risk zone of earthquakes ?
(A) Central Indian Highland (B) Coastal region
(©) Himalayan region (D) Indian desert

44. Match List-I with List-II and select the correct answer using the codes given below :

List-1 List-11
(Institutes) (Cities)
(a) Central Arid Zone Institute (i) Kolkata
(b) Space Application Centre (i) New Delhi
(¢) Indian Institute of Public Administration (iii) Ahmedabad
(d) Headquarters of Indian Science Congress (iv) Jodhpur

Codes :
(@ (b)) () @

(A) Gv) (D) @) (@)
B) (@v) @) @ (i)
© i) @@ G ()
D) @ @) @v) (i)
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39, AN FNT?
(A) &N e =feh
(B) FEME

(C) TTHAd 3R (OR) FHMUNE Jo9TEE 31 T T A(h e Siid
(D) T IEAA 3R OR N T[T |4

40. = 8§ #19 o SeEEe 9Rd daifes dedee TE e ?

(A) www.jeevansathi.com
(C©) www.shaadi.com

(B) www.bharatmatrimony.com
(D) www.u.k.singlemuslim.com

41. THTERO GTE YeAiehd e afadHl o aegfTss foversm §

(A) TAfaRor st fifaer fogrrand
B) ROl &i Sa «ifaen fareand

(
(C) TafeRu Kt wrHIfSTeh 3ATfefer fordrard
(

D) 3IWe |t

42. (TACA) TH T YU (9 JUFT) T S I 96 e § T 9

(A) wHTE S fem
(C) heret Il

(B) wford &
(D) A HYg

43. frefafed § & oFw w_w ywe &1 gfe § srafys Sifed & § o 272

(A) HEH 9RAME SHYM
(C) o™ &=

(B) W WW
(D) YR HEEIa

44. FE-1 R G-I § HAR T A T HIS T TART FHh Tal S QI |

ger-1

( TEqTT)
(a) HET AE ATHIH Fs
(b) STARE ITAT Fs
(c) WA clieh TR HEeH™
(d) WRdHE foqm SiUE
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45. Indian coastal areas experienced Tsunami disaster in the year :
(A) 2005 (B) 2004 (©) 2006 (D) 2007
46. The Kothari Commission’s report was entitled on :
(A) Education and National Development
(B) Learning to be adventure
(C) Diversification of Education
(D) Education and socialization in democracy
47. Which of the following is not a Dualmode University ?
(A) Delhi University (B) Bangalore University
(C) Madras University (D) Indira Gandhi National Open University
48. Which part of the Constitution of India is known as “Code of Administrators” ?
(A) Partl (B) PartII (C) Part III (D) Part IV
49. Which article of the constitution provides safeguards to Naga Customary and their
social practices against any act of Parliament ?
(A) Article371 A (B) Article371 B (C) Article 371 C (D) Article 263
50. Which one of the following is not the tool of good governance ?
(A) Right to information (B) Citizens’ Charter
(C) Social Auditing (D) Judicial Activism
-00o0-
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45. G SIS RATE G 9T | fohd oW T ST{9d ki TR 2
(A) 2005 (B) 2004 (C) 2006 (D) 2007
46. HISRI STREINT Yfdeig ol 3ten o
(A) Toren we I forehr (B) @ftn 2 ot wed=R
(C) SEEfHFRIA ATh TSehe (D) <irehes ¥ e T SrifSeRieRton
47. Treifera § 9 = @ fovafaerem 53 gsf amen 787 < ?
(A) Teoedl faafermem (B) wTaR forvafaeme
(C) wem fovafaame™ (D) sfx Tt Adia g favafemmera
48. NG % GiAUM & o 90 1 yemEent 1 A= Higdn' HET S € 2
(A) I (B) WWII (C) W III (D) W IV
49. GfGUM 1 HF AT TS AN TS SR arifsie genedi 1 9ug & fwdt o sifufem &
T&IIT TR T B 2
(A) ST=T371A (B) =S 371B  (C) =S 371C (D) 3ITI=<T 263
50. frafafed § § &F o1 G S STR TET | ?
(A) HEFAT I SRR (B) IR YRR 0o
(C) wHIfSTR Sfeheror (D) =t dfshaan
-00o0-
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Space For Rough Work
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